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1. ‘TisTey ud @@’ 3 T ashdl 2
A)  UFSHAT B)  dUEshdl  C)  UARERRAT D) URUETHEshdl

bJ

2. ‘TEISHRATISH FaTs et -5 2
A)  STFFEHAEE B)  ScIIeRhaE™
C) OIS ATaTy D)  TAREEEhAEE

3. IO WHOl A eI e - SR oo ?
A UREE B)  HHE C) TREUE D) EER™

4. SISO SICFAYTgeh: shH: ?

A) =T B)  @qE C) g D) UsEE:

5. SRRl SRS 2id el AEaH ?
A) T B)  SYMUNCIHIAT

C) AR D)  SFRIAET

6. ‘Al e TeeuRy Iy THUHRTROIGTE: | -heE qoq 2
A) T&EGE B) PWHRE () HE: D) I

(=N

oo (@

7. ‘T UgrEAl eHgdiHe A - 2

A) dEERAM  B) URHEGWE  C)  AeEm D)  UgMFHY

8. WHAHRT TSaHISHE ST 35T o Wi SIS 9 ?
A)  TEEH B) ARV C)  HeWAH D) ey

~ ~

9. WHAHEETH TOIGHER! (R SFdeiaeh: & ?

A) THHOSRRT B)  WORTRT C) YHOSRRT D) giote

10. SFURIMeN Ioay fo=may ... 3Ad-h: ?
A) T B) &= C) O D) T




11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

T SIRBHER T UIRaqeed Hied I forr 2

THheh

A)  FEENY  B) WA C)

~

TS IR &t 92

A) T B) ol C)

FHehZh VT Heg T AR 2
A HRE B) TR C)

STRY T TR o 2
IV B WIE O

“qreer 3fd S Rl A 2

A) I B) dFEaE™ Q)

What pratyaya is used in the word T[S ?

A)  TGAD B) fg C)
HhTLTIN 116%?4111‘ I AT 2
A) B) SRTET Q)

o (@
hId ShIRTT | ?
INEER. B) OO C)

<

“geFeRoT 3T TR ?
A)  HSHTT B) IRIYNET Q)

=~

ATTHEOT AT e ?
A T B)  er C)
(AT )i 3fd agi= |

A) =T B) HE®E Q)

EIEEEH

FoT

et

Hepldg

RIEY

~

LB

AT

“SteIfor 3fq SHEMT ST, 9 Y- 37 Y gL 9

A)  HEREEEREE B) ol

C) URRTSeq D)  eAfueEoy

-~

~

D)

D)

D)

D)

D)

D)

D)

D)

D)



23.

24.

25.

26.

217.

28.

29.

30.

31.

32.

‘T eI SaT Hols HoIThRId shied | 31 hidRid ded %
forarferar 2
A)  wEEm B) AMRISEE C) dlfhdl D)  HIEHE
T ... AT, T e, SRTaTeraseeTem |
A) SR B)  NREREH ©) 0 99SdEEH D) STEEiHeREH
‘TN T I SREHAIRTE -3 2
NI B) OoMSgET € HEEET D) AT
‘g ARSI TR0 -3 YT Tl Te Fraaiser & 2
A)  fa=n B) W C) Hm D)  wnfE
mEd: 39 R ?
A)  HARH B)  {w@H C) WA D) HT
ST TIeTs T Tigfa 2
A) T B) 3Tl C) T@E9ET D) g
“RHRIEIERA -1 1§07 2
A) T YU SR STEied PR 9
B) W INSUAI Ysu 3Eifed 9
C) g gRivr e R ey =
D) ¥ FRIOT A T o
1T e & Tede] 2
A)  HHEM B)  3TcHM c M D) HAW
Match the following examples:
List 1 List 2
a. A 1 TOTSTETo
b. TR 2. ORIGSTETo
c.  HeR: 3. UEsTEvH
d.  FFeER: 4. S-SR
A) a-4,b-2,c-1,d-3 B) a-1,b-4,c-3,d-2
C) a-3,b-4,c-1,d-2 D) a-3,b-2,c-4,d-1
The Prasnopanishad belongs to which Veda ?
A)  EERT B) H{¥eERT  C) W D)  WTeR:



33.

34.

35.

36.

37.

38.

39.

40.

How many cantos are there in Raghuvamsa ?

A 20 B) 17 ) 19 D)y 22
Match the following examples:

List 1 List 2
a. @ dited JUYHdl SRATgIAre: 1. TSR
b.  Terer vk gnt Afg wala ekt THiadH 2 ESCEll
c. TRt ERT Jaare 3. TmaRof
d. IOEE A § e s 9ss. 4. FEwidoed
A) a-1,b-2,c-4,d-3 B) a-4,b-3,c-2,d-1
C) a-3,b-4,c-1,d-2 D) a-3,b-4,c-2,d-1
Select the particular metre which belongs to jagathi chandas.
A) ST B)  SG=ldotehy
C)  HSThIT D) @

The author of Kuttanimata 1s........

A)  Ksemendra B) Trivikrama Bhatta

C)  Haricandra D)  Damodaragupta

Bana flourished in which century ?

N B 9" o 11" p) 15"
Who is the author of Priyadarsika ?

A)  Harshavardhana B)  Vamanabhatta

C)  Bhattanarayana D)  Kalidasa

Which one is the example of SATRFTAGHR: ?
A)  IEHAT TR SRR = |

B) YfoaHEE @R GG |

C) IV AT A= o] HehTceh . |

D) EAHEIHMT TR Th HElcH=HM |

“FTT ISR WigT Sler IR T -SSR & 2
A) SUNREN B)  SooiE: C)  SoRT D) ®UHY



41.

42.

43.

44,

45.

46.

47.

48.

Match the following examples:

List 1 List 2
a. s 1 SISH
b. T 2. TN
c. T 3. IR
d. fog 4. =EA
A)  a-3,b-2,c-4,d-1 B) a-3,b-1,c-2,d-4
C) a-4b-3,c-2,d-1 D) a-2,b-3,c-1,d-4

‘FEH SRR g Yeg aRIseE dEvd 3 i e yaee
TIiehT 2

A  IE<E™ B) B9 C) MHE D) &
‘Sl YRR AT - 3R ST (69 2

A)  THHEd B) g

C) RAl I T/ D) OSEE

“SRISI SIS Tameh:” oI il el AT 2

A) RO B)  SMai g

C)  EIS=HAE] HHMT D) &l

Read the following statements and choose the correct answer:
1. F gui w5
2. A& guE B

A)  Both are correct B) 2 is correct and 1 1s wrong
C)  Both are wrong D)  1iscorrect and 2 is wrong
‘Tal g 3 gAvT Tafeds T & 2

A) T B M 0 E D FF

‘g’ 3 WIS garEgaas €9 foh 2

A) TmgEm B fwmeEm ¢ fEgeIm p) fagwmam

N ~ ~ ~

Read the following statements and choose the correct answer:
1. TN IRiEeHaTaRER e e |

2. TN ARTEoSATES ST 9o |

A) 1 is correct & 2 is wrong  B) Both are correct
C)  Both are wrong D)  2iscorrect & 1 is wrong



49.

50.

51.

52.

53.

54.

55.

56.

FEGUI TG 0] 41l SeAug faefiad 2
A) 3@ B) 3T c D)

-~

Match the following examples:

List 1 List 2
a.  TURT A deaqEd 1. ORI
b.  gSlisTEH 2. ORI
c. TR TAIST™ 3. S EEesd
d. SATEuReEr o 4. 3 qTH
A) a-2,b-1,c-3,d-4 B) a-2,b-1,c-4,d-3
C)  a-3,b-4,c-2,d-1 D) a-1,b-2,c-4,d-3

AR TET eI [T weeehar it &l 2

A) UhRT: B) 3 O) 4T D) Hos ol

G o o [aS ) [y s o
JERTHEFST AT HIAT - AR IS |°h‘-|\?

o [
A) SHAFHAARVITH B) mbldd‘lllldollwllq

) TrsefeeemEmey D) TG INqeNTaRona

[a¥aN

RITUehIch HEl 1ot fohm 2

A)  SEYTEREEH

B)  QEEUAHETEAET

C)  TIRRfEA dd hameey
D)  HEHHUNHTOTEEH
T TR0 SHicTiore 2

A) T B)  Ueh[aR C)  Sfeaer D)

N

o e
JCEI AAANIHRT ThH ?

A) aqeuyq B) SESEH

C)  UCEUNRTHIET D) e

HGFA1Geh Thejeh, HIAC, HEo -SGHTH el eI 2
A SETHr B)  AlahcUhIcIeT

[aNas

) FiohearaT= D) RS




57.

58.

59.

60.

61.

62.

63.

Match the following examples:

List 1 List 2
a.  EEUEsT 1. S sEE
b.  STETURUIHII: 2. TEdl EA e
c. s 3. VISl IOT eI
d  =TEeEnaE: 4. VR Mo IEE
A)  a-3,b-4,c-1,d-2 B) a-3,b-1,c-2,d-4
C) a-2,b-1,c-4,d-3 D) a-4,b-1,c-2,d-3
ST i IO G ?
A) I B)  OqeY c T4 p) foeifas
< QreATHIEAg e 3 U HAANST: 2
A)  hAcTEATIHE B)  ShacTaraee!
C)  ITouARIheIA D) AR Ied
Match the following examples:
List 1 List 2
a. AT 1. HCEITEEH
b.  WIHHHAE: 2. HCHIEH
c.  HIHHAIIGHAR: R Gt
d. HHAET 4, BUTHHEGTH
A) a-2,b-1,c-3,d-4 B) a-3,b-1,c-4,d-2
C) a-3,b-2,c4,d-1 D) a-2,b-1,c-4,d-3
Read the following statements and choose the correct answer:
1. THEHT WA et |
2. AT WRATITHIOIENG: et |
A)  Both are wrong
B) 1 is correct and 2 is wrong
C)  2iscorrect and 1 is wrong
D)  Both are correct
gaRIf-ad WfeRId & aafd 2
A)  SEEeT B)  WMEWE C) ORI D) HiEn
YRR T A FHel: 2
A) WIEEA| B)  ®9RMT C) WM D) oI



64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

‘R AERIEESS T Ad RehaEIeTssiehedld, Yabad - FAHTS He

T 2
A) T S B)
C)  TRIT oo D)

HHERITR: T 2
A) ARG B) ®e:

TR 7l 8 Mh: 6 ?

0T TTfereeas.

T ARy

) AfElET D)
T
SIS S

(4 9 .
T QAR ST FTHEHaT @ 379 397 3 el [ 2
TR 3T

AT ATIHOREETS

A) STl B)
C) 3R D)
A HEEEE Mo B)
C) HHIEHE TE D)

T TARIHIUMRT o I[FARIET Felr ?

A)  OTEEYUMRTET B)

~

C) I D)
TERTATATERTT TeeTredvt foh 2

A)  EFSEEEEESS IFE - OB)
C) IR I D)

TSI I el Heehts fohd] 2

NEISUIR SIS

EECOESEERCIn]

FHAATE T

[anN -
HE-DEISICLY

A T B) o= C)
RIS AT AREATANHOE e o ?
A)  Tafgem B) I C)

o0

o~ o

STHT

SR

o0 0
SHlgdld ol [dieoel (ATl HAdiRlR4d

A)  TEME B) &Y

~

0)

3Tg T HaereashamTe: [aeT i 2

A) R[=ICE B) A

<

0)

o o
Yele: ThH ?

Aq:

ERH

D)

D)

D)



74.

75.

76.

7.

78.

79.

80.

81.

82.

83.

Match the following examples:

List 1 List 2
a. I 1. SRESHRT
b. =AHE 2. femq
c. IEHC 3. O
d = 4. Fhae
A) a-2,b-3,c-4,d-1 B) a-4,b-1,c-3,d-2
C) a-3,b-4,c-1,d-2 D) a-3,b-4,c-2,d-1

ArarEd A 6 2
A) &% B) HEUH C) g D) e

~ ~ ~

‘AT i’ 3T AEIE 371 &t 2
A) AR B)  UHAT C) It py  fawEm

‘g et o A TR 2

A FEH B)  WEAY C) TR D) HEH
e 2feT & MHea=< 2

A) T B) fawam C) It py WM
eSSt oo =’ e [qeare fhafamsia ?

A gEq B) e C TEH D) WERH
‘T T 1 - 2

A) i By fowEm C)  IE D) @

October 2 is not suitable for marriage. Because....
A)  Sukra possess a childish stage

B)  Gandhijayanthi comes in that day

C)  Ravi possesses the kanya rasi

D)  Dakshinayana is not acceptable

“Tifet A - 2
A) fEm™ B R ) faew D)  TeRE

TeRT ITT: 9 & 2
A) SHRRMEA:  B) EERINDE 0) IqURRIE: D) AR



84.

85.

86.

87.

88.

89.

90.

91.

92.

93.

frdsmi-agted: arsar: & 2

A)  SEwid B) GO
C)  EpeIHHN: D)  heAgH:
Match the following:

List 1 List 2
a. ERH 1 Tifeon
b. fua 2. @t
C. ST 3. Rlel|
d w1 4.  BEA
A) a-2,b-3,c-1,d-4 B) a-4,b-3,c-1,d-2
C) a-3,b-4,c-1,d-2 D) a-3,b-2,c-1,d-4
What is the date of Sangamagrama Madhava ?
A) 1587-1678.A.D B) 1498-1565A.D
@) 1340-1425.A.D. D) 1172-1215A.D
Who is the author of Saravali ?
A)  FHAERYES B)  HIER{ERT
C) oI D)  hIERERT

frgeEs &dl &7 ?

A) TURIGERT  B)  CHIEE: C) I D)

How many chapters are there in Lilavati ?

A) 24 B) 10 0] 13 D)

Which work of Sripati contains Rahunikaranadhyaya and Yantradhyaya?
A)  Siddhantarahasya B) Siddhantasekhara

C) Ganitatilaka D)  Suryasiddhanta

‘TRtET 30 WRET U 2
A USTE B USHE O USE D)

o AT ISR 3ia |l e 2
A) QISR B) TEfowaaRia Feisd
C)  IgEr 9 D) IE T

‘areHTSTYE Td YRR R 2

A) TERIN  B) dSEd 0 C) =T D)

=~

10

8

TS 3NeT



94.

95.

96.

97.

98.

99.

100.

101.

Who wrote the text Lilavati ?
A) () B)  WTERITE(MeT)
C)  ATRUSHEATS D)  HSITHHTYE:

qfSret are o FeRi 2

A)  HE B) HET ¢ fauveew D) eAfaulvees

‘TR 2 ARt R 2
A)  IAHISTH B)  IId WidSTHIT
C)  |uS S D) T S

Read the following statements and choose the correct answer:

1.  IJSSOuRE
2.  SERWHAA

A) 1 and 2 are wrong
B) 1 and 2 are correct
C)  11iscorrect and 2 is wrong
D) 1iswrong and 2 is correct

‘T FT e S0 SIS el 0T 2
A)  3THHEET B) UREE TR

C) A [RIAL A1 HIR™ D) SHIEH! AenYl

SRR Yoot FaiHEgaad €4 fRH ?

A =Y B) Ty c) 3y D) Ty

‘Teer’ 3T TR SqeEshadH ® Y R 2
A T B) [ o = D) feem

Read the following statements and choose the correct answer:

1. Germanic group of Indo-European family includes the Swedish
language.
2. Malayalam language belongs to Indo-European family.

A)  Both are wrong
B) Both are correct
@) 1 is correct and 2 is wrong
D)  2iscorrect and 1 is wrong

11



102.

103.

104.

105.

106.

107.

108.

109.

Maratti language is derived from which Prakrit ?

A) B) SWHITE ()  IREAr D)  HTTE

Match the following examples:
List 1 List 2

A

a. Grassmann’s Law 1 kmtom-satam(Skt)

b. Verner’s Law 2. kulta-kutharas(Skt)

C. Grimm’s Law 3. qo-kah(Skt)

d. Fortunatov’s Law 4 bheudho-bodhami(Skt)

A) a-1,b-2,c-4,d-3 B) a-1,b-3,c-4,d-2

C) a-3,b-4,c-1,d-2 D) a-4,b-1,c-3,d-2

The change of Sanskrit va into ba in Bengali, 1s an example of ....... ?
A)  Organic change B)  Isolative change

C)  Acoustic change D)  Combinative change

Match the following examples:

List 1 List 2
a. Specialisation 1 TghsiH-mud-born-Lotus
b.  Generalization 2. sa™t BEeE-fool
C. Transference 3. Hiar-Learned man-poet
d Pejoration 4 ﬁFﬂ{-Oil of sesame-oil in general
A)  a-1,b-2,c-4,d-3 B) a-1,b-4,c-3,d-2
C) a-3,b-4,c-1,d-2 D) a-4,b-1,c-3,d-2

Who is the author of Atmabodha ?
A)  Tapovana Swamikal B)  Sree Narayanaguru
C)  Chattampi Swamikal D)  Sree Sankaracharya

What is the date of Narayanapandita ?

A)  1712-1746 B)  1885-1958 C)  1817-1902 D)  None of these

Who is the author of Navaratnamala ?
A)  Ramavarma Pariksit Tampuran
B)  K.Ramapisharoti

C)  Mantitta Kunju Namboodiri

D)  A.R.Rajarajavarma

An Ayurvedic work written by Vaikkatthu Pacchu Moottat ?
A)  EsahEY B) THgmIHR=:

~

C)  HARTIhougH: D) FEWRRHY

12




110.

111.

112.

113.

114.

115.

116.

117.

118.

119.

120.

A Mahakavya written by P.K.Narayana Pillai ?
A) WERET  B) foEE ) 2 {FOHERAY D) foRmEesEs

‘I | A TaAEA - g ?

A) 3T B)  Homa: C) e D) HEC
3T TG S R 2

Ay Efe B) e c) Iy D) T
feda AT aHgT-re Tt 2

A) R B) A C)  giawr D)  SHATET
NI EE It 2 e D N

A)  FURL B) IYSEARI C)  SHI D) TRV

T feeiue gt fopameear- 2

A)  WEROT  B)  EgEA! c) A D) e

[4a)

T eI HIeFaaT -k 2
A) SRR B) HelgshNlr  C) JISTRIST: D) {Ar:

IR HEETIREES aad |

STTees AT HOARATAT T | |37 FH: SIS HIT e 2

A) AW B) EURIGHR:

C  faREmer D)  faehT
e 37 faersegidede &7 2

A)  FUAI TR B) faamfawfa

C) 3T [WRE D) U a IEAnEs

Tl T R

A)  TouEEs B) U@ C) I D) 3gAEH:

‘TG 3Tl o VSITT Hhivagh: -hivdarsid us faafetar & 2
A) SRR B) A&
0] CIEAH D) STASIERT:

13



